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QID:101 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T v & for or Reeu d @ uy Y
(?) & TUF W A I FEA AT

Options:
1) 242

2) 250
3) 201

4) 243
Correct Answer: 243
Candidate Answer: 243

QID:102-
How many triangles are there in the given figure?

& o st # e frug 2

Options:
1)6

2)7
3)8

4)10
Correct Answer: 8
Candidate Answer: 8




QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by {wo classes of alphabets as shown in the given {wo
malrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A lelter from these matrices can
be represented first by its row and next by its column, for example, ‘T can
be represented by 42, 79, elc., and ‘U’ can be represented by 20, 97, efc.
Similarly, you have to identify the set for the word “WORK?”.

UH TG had U Hea-aHg &/ gutur s g Shar Ty feseul A @
foredt wen o @ s ) Rweut & {r v g e & o at
arr gRin orw & St &5 Bu oiw o amegp & ¥ anege & waew AR
Gf T T 0 @ 4 ¥ IR IMMAEN B 5 @ 9 39 HegE T T AR
o ugd 3 Ufr R O F Toew T aRr o S awdar §
SEIEIOT & forw T" @ 42, 79, 3G TRT SR S Fahell & @l “U* &l 20,
97, JTig ERT AT o Tehel &1 3T oE o IMudr us A Qo ereg
“WORK” & RIT T & Ugdeem &

Matrix-1 Matrix-il

Jmege-l Jmegg-l
011234 5167189
¢lZ|C|W|G]| I S| X|K|ID|F|R
1|KIM|O[QS 6|GI(W|IN|H|V
2I1UW|Y |B|A TIE|Q|Y|J|T
3|F|H|[G|L|N 8|C|F|I|L|R
4|DIR|T|V]|O 9|IK|S|U|N|P

Options:
1) 02,12,41,10

2) 21,44, 32,56
3) 56, 69, 89, 10

4) 58,76, 59,95
Correct Answer: 02, 12,41, 10
Candidate Answer: 02,12, 41,10

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% T Apfadl A ¥ 3 W G W g
S & vy sl AT &




Options:
1)

P | I

L,

Correct Answer:

[}

Candidate Answer:

2

QID:105-

Which answer figure will complete the pattern in the
guestion figure?

wid Hl 390 AHA U AHG & Uasd H gl
HLIM?

R




Options:
1)

|
a
2)
|_m|
3)
O
a
4)
Correct Answer:
| |
O
Candidate Answer:
| |
O
QID:106 -

[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy ms gUT @ AB YT WT @ Sm, &t & e
TaY ATEaal # O wig W ey v anela
T ufafeFe grefi?

%
AR




Options:
1)

[

N
Correct Answer:
N
| Ve
Candidate Answer:
N
| /!

QID:107-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d=r & Uy aEfadr # REm ygER e @
AZeY Ve AT Tield & dIg a% b o’ HIp
s fgmrg geme

AllA |z




Options:

N

o
Q0 00
[}

w

£y

Correct Answer:

O
o

o
0Qo

Candidate Answer:

Q0 Q0

o]
[

QID : 108 - If '+' means '+, 'x' means '=', '=' means '+ and '+' means X/, then

14x11+3+33-7=2
e '+ <1 31l '+, X BT 37T '—', '~ BT 372f '+ TFAT '+ BT 37T 'x' g, A¥

14x11+3+33-7=2
Options:

1) 25

2)29

3)20

4)34

Correct Answer: 20
Candidate Answer: 20

QID:109-1f16 A4B2=32and9A2B6 =3, then

14A2B4=7

gfe16 A4B2=32T2T9A2B6 =38l

14A2B4="?

Options:

19

2)7

3) 11

4)14

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Onion

2. owl

3. Omnious
4. Ostrich
5. Oman

FrferRae oreal 1 vregaier # o1 arel 37 & argEr ferdd |
1. Onion

2. owl

3. Omnious

4. Ostrich
5. Oman

Options:
1) 53142

2) 35142

3) 53124

4) 35124

Correct Answer: 53142

Candidate Answer: 53142

QID : 111 - In the following question, select the missing number from the given series.
35,38, 42, 47, 53,2

ferferRae e A faw TTw frsped! # & owT 37 STt ST

35, 38, 42,47, 53,7
Options:
1) 60

2)63
3)64

4)72
Correct Answer: 60
Candidate Answer: 60

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

XY, AB, DE, ?

T Srghe o T €, e @ uw v g 1 fRw T Rt # 9 a7 v Rrvew g, St srgmm A g |

XY, AB, DE, ?
Options:

1) GH

2) FG

3) FH

4) Gl
Correct Answer: GH
Candidate Answer: GH

QID : 113 - In the following question, select the odd word from the given alternatives.

Frafefea Tem 7 g e frsedt & @ faww vreg & g
Options:
1) Rose

2) Lotus
hHeT
3) Sunflower

4) Apple
Sic]

Correct Answer: Apple

GES




Candidate Answer: Apple
Sic]

QID : 114 - In the following question, select the odd number pair from the given alternatives.

Frafeaiea wem 7 fae e fased) 7 4 fvw W@ g gl
Options:

1)12-146

2)9-83

3)5-28

4)13-171
Correct Answer: 5 — 28
Candidate Answer: 5 - 28

QID : 115 - In the following question, select the odd letters from the given alternatives.

FrferRaa wem o g a1 Ryspedt 3 & fawer s1ei #r gl
Options:

1) JL

2) MO

3)PQ

4)AC
Correct Answer: PQ
Candidate Answer: PQ

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Pen, Notebook, Stationery
g @ T o =i i 1 it & e % Heaw & wE M eu Har g
T, B, Tra aral

Options:
1)

2)

3)

4

Q0

Correct Answer:




Candidate Answer:

QID : 117 - In the following question, select the related word from the given alternatives.
Injection : Body : : Pesticide : ?

RoreferRaet sreer #F fRrw g Rispedt # B waiftra vreg gl

T IR P9 ?

Options:
1) Spray

2) Pest

B

3) Crop
HHeT

4) Chemicals
ESIEG)

Correct Answer: Crop
HHeT

Candidate Answer: Crop

HHeT

QID : 118 - In the following question, select the related number from the given alternatives.
493:16::587:7?

Frmfelea wem o g g fysedl & & Wafta Sen # gl

493:16::587:7?

Options:

1) 22

2) 20

3) 47

4) 61
Correct Answer: 20
Candidate Answer: 20

QID : 119 - In the following question, select the related letters from the given alternatives.
YAC:ZBD::PRT:?

FrafaRas oo 3 fag a1 fywen 9 O afta e S gfal

YAC:ZBD::PRT:?

Options:

1) QST

2) RSU

3) RST

4) Qsu
Correct Answer: QSU
Candidate Answer: QSU

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
FRUGALITY
FrefaRad fameal # & g vres gfve o faw 1T 9reg & 31&1R1 T W7 ek 8] ST of TehelT |

FRUGALITY




Options:
1) LIAR

2) FIRE
3) TRAIL

4) FLIRT
Correct Answer: FIRE
Candidate Answer: FIRE

QID: 121 - A, B, C, D and E are sitting in a line facing west. A and B are sitting together. C is sitting at south end and D is sitting at north end. E is neighbour of B and D.
Who is sitting in the middle?

A, B,C,D T E To 4l A uRT\ Y siR q@ TS IS TIATATB TH WA I3 €1 C IR R iR dor @ T2 D Sl R R AT R | E, B AT D BIUSHA & | Heq H i
doTE?

Options:

1)B

2)D

3)A

4)C
Correct Answer: B
Candidate Answer: B

QID : 122 - Weight of A is thrice that of B. Weight of B is twice of C. Weight of C is 4 times of E. Weight of E is twice of D. The weight of B is greater than the weight of
how many persons among A, C, D and E?

AT YR B &1 AT £ 1 B T WK C HTINAT § | C T HR E BT 4 AT &1 E BT HR D HTSIFAT R | B T W, A, C, D 721 EH & forew aafamall & WR A siftrs 32
Options:

1)3

2)4

3)2

41
Correct Answer: 3
Candidate Answer: 3

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All blue are colours.
1l. Some colours are Sun.

Conclusions:
I. No blue is Sun.
Il. Some Sun are not colour.

2 g g e A e F2e SR 9% 918 99 FUH! 1R neRd $o ey fu e €, grerifs s ar= g qeat | Pietar g w8 1 v frsed ud sl fnw
fraffRa w3 i Ru o sia @ frend, e o st & sromr w gReeara §1

T
Lwfr e T
Il pB TP B

frredz

1. TS e I T B

I oE AT ]|

Options:

1) Only conclusion (1) follows.

Feret Frrepet (1) T B

2) Only conclusion (1) follows.

haet ferepd (1) TET 21

3) Both conclusion follow.

A Y ey T €1

4) Neither conclusion (I) nor conclusion (Il) follows.
a1 forend (1) 7 8 s (1) Ty B

Correct Answer: Neither conclusion (I) nor conclusion (Il) follows.

= frene (1) 77 € freaee (1) et B I




Candidate Answer: Only conclusion (II) follows.

haet frepd (1) TET 1

QID : 124 - In a certain code language, "HAIRY" is written as "ICLVD". How is "STONE" written in that code language?

T RIfdTeE @ wraT ), "HAIRY" BT "ICLVD" {1 ST € 1 39 SI€ 9T § "STONE" &) fp wrehR forar siraem?

Options:
1) TRVQJ

2) TVRRJ
3) VTROJ

4) TVPRJ
Correct Answer: TVRRJ
Candidate Answer: TVRRJ

QID : 125 - In a certain code language, "TRAIT" is written as "94329" and "WOUND" is written as "56078". How is "DRAIN" written in that code language?

s fafdree wig wrar &, "TRAIT" Y "94329" T21T "WOUND" T "56078" foTar ST & | S @hie UTaT & "DRAIN" &1 fobr iR ferar seem?

Options:
1) 72439

2) 84327
3) 72438

4) 56432
Correct Answer: 84327
Candidate Answer: 84327

QID : 126 - The selling price of an article is Rs 1920 and discount given is 4%. What is the marked price of the article?

T TR BT 3R o 1920 % § iR 30 R &1 71 ge 4% ¥ | aw] &7 sifthe Jea = §?
Options:

1) Rs 1400

1400%

2) Rs 1600

1600%

3) Rs 1800

1800%

4) Rs 2000

2000%

Correct Answer: Rs 2000
2000%

Candidate Answer: Rs 2000
2000%

QID : 127 - What will be the total sum of all odd natural numbers between 2 and 36?

2 31X 36 & sirar BT T forew urpicres weaTsit &1 TN fohar gRm?
Options:

1) 360

2) 323

3) 288

4) 285

Correct Answer: 323

Candidate Answer: 323

QID : 128 - What is the unit's place digit in the product (218 x 310 x 431 x 834)?

T[T (218 x 310 x 431 x 834) H THTS FATH UX 3719 TTeAT 37 FT 82
Options:

14

2)8

3)1

4)0

Correct Answer: 0

Candidate Answer: 0




QID : 129 - X and Y walk at average speed of 1.5 km/hr and 2 km/hr respectively. If X walks in West direction and Y in North direction beginning from the same origin
at the same time, what will be the distance between the two after 4 hours?

X TR Y Fer 1.5 e/ eer ofR 2 forefi/der o stera i & 2gerar B | 3R X e oot e  SiiR Y S Y frem & o €1 foig 9 U &) vy & wemr ST el 8,
T 4 TS 1 I e @t i T g
Options:

1) 10 km

10 forei.

2) 5km

5 fopett,

3) v13 km

V13 e,

4)12km

12 et

Correct Answer: 10 km

10 forei.

Candidate Answer: 10 km

10 fopedt,

QID : 130 - Which one of the numbers is completely divisible by 25?

T ¥ Fope wear &t 25 & qutar Rrvrsy fomam i weaar 87

Options:
1) 22135
2) 303315
3) 455215
4) 373375

Correct Answer: 373375
Candidate Answer: 373375

QID : 131 - The product of two numbers is 120. The sum of their square is 289. What is the difference of these two numbers?

S HeETsi BT OHEE 120 § 1 Sh 91 6T ART 289 § | 37 S Wil B ey w22
Options:

1)6

2)7

3)8

4)9

Correct Answer: 7

Candidate Answer: 7

QID:132-1f 1 Xor2Y or 3Z can do a piece of work in 44 days. In how many days 1 X, 1Y and 1 Z, working together, can do the same work, where X,Y and Z are
different capacity machines?

AR THFFH R 1XA2YAT3Z, 44 TRA A G AR AT 211X, 1Y 3R 1 Z arer forerens forem et 7 ot w1 qur v el €, 57aife X, ¥ <2 Z i arorar areft wefie
kg

Options:

1) 33 days

33fe

2) 26 days

26 fo1

3) 24 days

24 f&=

4) 21 days

21 f&=

Correct Answer: 24 days
24 f&=

Candidate Answer: 24 days
24 f&q

QID : 133 - What least number must be added to 752 so that the sum is completely divisible by 59?

752 % 7 | FH9 et W sig- =g a1fs @it 59 |yt frvse g sme?
Options:

1)15

2)13

3) 11

47

Correct Answer: 15
Candidate Answer: 15




QID : 134 - 1880 is how much percent of 5875?

1880, 5875 &1 fapar=im uferera 87
Options:

1) 26%

2) 28%

3)32%

4) 34%

Correct Answer: 32%
Candidate Answer: 32%

QID : 135 - The average of ten numbers is 7. If each number is multiplied by 12, then what will be the average of new set of numbers?

T weEsi o aite 7 %1 afy vl Wt o1 12 | o fomar Sirer £, 9 Searsil % Wy wig & siad wr gRm?
Options:

17

2)19

3) 82

4)84

Correct Answer: 84

Candidate Answer: 84

QID : 136 - The total surface area of a cube is 2646 cmZ2. What is the volume of this cube?

T U BT U IS SIS 2646 T2 § | 39 O BT ST = §7
Options:

1) 9161 cm3

9161 |3

2) 9361 cm?

9361 T

3) 9261 cm?

9261 93

4) 9461cm?3

946193

Correct Answer: 9261 cm3

9261 T3

Candidate Answer: 9261 cm?3

9261 T3

QID : 137 - How many of the following numbers are divisible by 31?

186, 226, 832, 656, 1264, 527
ferifepa o & feparit Teamd 31 9 fervrsr €72

186, 226, 832, 656, 1264, 527
Options:

15

2)4

3)3

4)2

Correct Answer: 2

Candidate Answer: 2

QID : 138 - The marked price of a toy is Rs 60 and after a discount it was sold for Rs 45, then what is the percentage discount offered?

ue Racit &1 sifre 7o 60 % § SRt ge & 15 39 45 T H o T, < g wirera w22
Options:

1) 20%

2) 25%

3) 30%

4) 35%

Correct Answer: 25%

Candidate Answer: 25%

QID : 139 - What is the compound interest for a sum of Rs 20000 in 2 years, if the rate of interest is 18% per annum?

Tf =aTeT 9 2R 18% TR a9 €Y, T 20000 % 7 2 9§ A wshgfes st e g




Options:

1) Rs 7748

7748%

2) Rs 7848

7848%

3) Rs 7648

7648%

4) Rs 7948

7948%

Correct Answer: Rs 7848
7848%

Candidate Answer: Rs 7848
7848%

QID : 140 - The monthly salaries of A and B are in the ratio 10:11. If both of them get a salary increment of Rs 6000 per month, the new ratio becomes 12:13. What is
the new monthly salary of A?

AT B & ATRAS Il T 31T 10:11 § 1 3WR ST &1 wieTg 6000 F @t aa+ i Firerh B, A 71am S1guTe 12:13 €Y ST 8 1A T =727 ATRIS aae 0T 82
Options:

1) Rs 36000

36000%

2) Rs 33000

33000%

3) Rs 39000

39000%

4) Rs 30000

30000%

Correct Answer: Rs 36000
36000 %

Candidate Answer: Rs 36000
36000%

QID : 141 - A man had 100 kg of sugar, part of which he sold at 7% profit and rest at 17% profit. He gained 10% on the whole. Find how much sugar did he sell at 7%
profit ?

T 3 I U 100 feram. =t o, vt $5 Wt SEA 7% W uR SR 91T Y 17% oy U S . SHe R UR 10% o 3ifSTer fmar | uen v 7% @iy iR s e
fepaiY == Sif?
Options:

1) 65 kg

65 femam.

2) 35kg

35 fema.

3) 30kg

30 e,

4) 70 kg

70 fema.

Correct Answer: 70 kg
70 femam.

Candidate Answer: 70 kg
70 feram.

QID : 142 - A reduction of 25% in the price of rice enables a peson to buy 10 kg more rice for Rs 600. What is the reduced per kg price of rice?

TS B DI | 25% T B b i<k DY 600 T H 10 ForeimT it =maer Tian # WaTd SIaT ¢ | ATae Bt Ol g5 DI FieT bl a1 32
Options:

1)Rs 15

15%

2)Rs 20

20%

3)Rs 25

25%

4)Rs 30

30w

Correct Answer: Rs 15
15%

Candidate Answer: Rs 15
15%




QID : 143 - If the difference between the selling prices of an article at profit of 6% and 4% is Rs 3, then what should be the cost price of the article?

IR 6% AR 4% H T TR Teh I B Frshe oo & e 3R 3 % 8, <1 I 3T 569 Jod T § 4T AMRW?
Options:

1) Rs. 100

100%

2) Rs. 150

150%

3)Rs. 175

175%

4) Rs. 200

200%

Correct Answer: Rs. 150
150%

Candidate Answer: Rs. 150
150%

QID : 144 - A can do a piece of work in 8 days. B and C together can do it in 6 days, while A and C together can do it in 4 days. How many days will B take to do the
work alone.

A TRt T Y 8 el H qrr v B 1 B @WR C wrer Rreran S o ot 6 ol 3§ qrr vt €, STaifes A @i C wmer reten S v i 4 Rl F qrr 6w €1 B srher 99
1l fema ol o e
Options:

1) 20 days

20 f&q

2) 16 days

16T

3) 24 days

24 %=

4) 10 days

10f=

Correct Answer: 24 days
24

Candidate Answer: 24 days

24 fe=

QID : 145 - If Rs 2698 is divided in the ratio of 10:13:15 among A, B and C respectively, what will be the share of A?

3TN 2698 % BT A, B AT C F e 10:13:15 & 3rgure & ferwnfrer femam e &, Y A o fywar @=m gm?
Options:

1) Rs 810

810%

2) Rs 923

923%

3)Rs 710

710%

4) Rs 994

994 %

Correct Answer: Rs 710
710%

Candidate Answer: Rs 710
710%

QID : 146 - What is the sum of all 3-digit positive integers divisible by 13?

13 J fywrsr 9 arelY 3 sienl &Y AW eI Yuties HEAT3i BT AT T B2

Options:
1) 37574
2) 36574
3) 37674
4) 37666
Correct Answer: 37674

Candidate Answer: [ NOT ANSWERED ]




QID: 147 -
The pie-chart given below represents the household expenditure
details. The total income of the household is Rs 30,000. Based on

the data given in the pie-chart answer the following question.

dd v o O # T W & o9 o9 &1 Ao o w3
R B pa A 20,0008 B 7T iwst F AR W i
w1 IR IR

O Rent/feherET

B Education/fAT&T
ECloth/ae

B Food/strotet

C Transport/Ti{agel

© Entertainment/ ARSI
= Savings/ddd

“ Miscellaneous/fafaer

In a particular month, the household did not spend on entertainment and instead save it. What will be the total saving for that particular month?

el ue 7 A TRaTed! ¥ AN TR e e R SR 5 fee 90w v ot | S w9 ot srere i R
Options:

1) Rs 4200

42009

2) Rs 2400

2400%

3) Rs 1800

1800 %

4) Rs 4000

4000%

Correct Answer: Rs 4200
4200%

Candidate Answer: Rs 4200
4200%




QID : 148 -

The pie-chart given below represents the household expenditure
details. The total income of the household is Rs 30,000. Based on
the data given in the pie-chart answer the following question.

de v o O § te W & 9 wg &1 Q@ g T g
W P pa g 30,0005 Y 7T Miws F R w iy
Uy B I A

O Rent/feRaT

O Education/FI&T

S Cloth/aea

B Food/sioteT

O Yransport/THcgst

© Entertainment/FA {wel
- Savings/addl

© Miscellaneous/fafaer

How much amount does the household spend on Food?

ERETCT HIST R Gt el @l el 87
Options:

1) Rs 4000

4000%

2) Rs 4600

4600%

3) Rs 4800

4800%

4) Rs 4200

4200%

Correct Answer: Rs 4800
4800%

Candidate Answer: Rs 4800
4800%




QID: 149 -
The pie-chart given below represents the household expenditure
details. The total income of the household is Rs 30,000. Based on

the data given in the pie-chart answer the following question.

de v o O § te W & 9 wg &1 Q@ g T g
W P pa g 30,0005 Y 7T Miws F R w iy
Uy B I A

O Rent/feRaT

O Education/FI&T

S Cloth/aea

B Food/sioteT

O Yransport/THcgst

© Entertainment/FA {wel
- Savings/addl

© Miscellaneous/fafaer

If 50 % of the miscellaneous amount is additionally spent on cloth, what is the total amount spent on cloth in that particular month?

afe faferer 7ai oot AT T 50% HUS TR iftre @t fopar s €, | 9w fey 7 3 g e o &1 1 Fof uier @ 82
Options:

1) Rs 4250

4250%

2) Rs 5700

5700%

3) Rs 3350

3350%

4) Rs 4350

4350%

Correct Answer: Rs 4350
4350%

Candidate Answer: Rs 4350
4350%




QID : 150 -
The pie-chart given below represents the household expenditure
details. The total income of the household is Rs 30,000. Based on

the data given in the pie-chart answer the following question.

de v o O § te W & 9 wg &1 Q@ g T g
W P pa g 30,0005 Y 7T Miws F R w iy
Uy B I A

O Rent/feRaT

O Education/FI&T

S Cloth/aea

B Food/sioteT

O Yransport/THcgst

© Entertainment/FA {wel
- Savings/addl

© Miscellaneous/fafaer

How much amount does the houshold spend on Education?

OxaTel RTet iR el fpaeT @ e ¥a 82
Options:

1) Rs 3900

3900%

2) Rs 3000

3000%

3) Rs 4800

4800%

4) Rs 1800

1800 %

Correct Answer: Rs 3900
3900%

Candidate Answer: Rs 3900
3900%

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

We realize that we are all in this together and (1)/ that pollution anywhere should be a global concern otherwise (2)/ there will only be more tunnels in the end of the
tunnel. (3)/ No error (4)

Options:
1)1

2)2
3)3

44
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

He murmured a word quietly and with great venom following upon (1)/ with other strong nouns and epithets that expressed his (2)/ feeling towards the President, his
Government and the Action Service. (3)/ No error (4)

Options:

01

2)2

3)3

44

Correct Answer: 3
Candidata Ancwar: [ NINT ANIQWFRHA




QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

He

Options:
1) bear

a grudge against his aunt.

2) bears
3) bearing

4) beer
Correct Answer: bears
Candidate Answer: bears

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

She looked
Options:
1) for

her crown everywhere.

2)in

3) all

4) of

Correct Answer: for
Candidate Answer: for
QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Chaos

Options:

1) Harmony

2) Order

3) Disorder

4) System
Correct Answer: Disorder
Candidate Answer: Disorder

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Earn

Options:

1) Cost

2) Spend

3) Lose

4) Achieve
Correct Answer: Achieve
Candidate Answer: Achieve

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Entice

Options:

1) Repel

2) Lure

3) Disgust

4) Avoid
Correct Answer: Lure
Candidate Answer: Lure

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Aboriginal




Options:
1) Ancient

2) Immigrant
3) Earliest

4) Native
Correct Answer: Immigrant
Candidate Answer: Immigrant

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Abscond

Options:
1) Remain

2) Bolt
3) Decamp

4) Fade
Correct Answer: Remain
Candidate Answer: Remain

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Crook
Options:
1) Cheat

2) Criminal
3) Rogue

4) Law
Correct Answer: Law
Candidate Answer: Rogue

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Sit on the fence

Options:

1) Not to take sides in a dispute
2) Excited about the working

3) Argumentative

4) Very emotional
Correct Answer: Not to take sides in a dispute
Candidate Answer: Not to take sides in a dispute

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Fit as a fiddle
Options:
1) Healthy

2) Talented
3) Successful

4) Restless
Correct Answer: Healthy
Candidate Answer: Successful

QID : 163 - Improve the bracketed part of the sentence.

Like no two people are same, not (every) career is made for everyone.

Options:

1) each

2) any one

3) every other

4) No improvement

Correct Answer: any one




QID : 164 - Improve the bracketed part of the sentence.

Now one can follow their hobbies as a career (to) and all that is required is tapping your interest.

Options:
1) too

2) on
3) the

4) No improvement
Correct Answer: too
Candidate Answer: too

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A feather used as a pen.
Options:
1) Anthill

2) Instill

3) Quill

4) Squill

Correct Answer: Quill

Candidate Answer: [ NOT ANSWERED ]
QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.
Two children born together.

Options:

1) Comple

2) Couplet

3) Twins

4) Adjoins
Correct Answer: Twins
Candidate Answer: Twins

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Gaurd

2) Garad
3) Guard

4) Guarad
Correct Answer: Guard
Candidate Answer: Guard

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Wenesday

2) Vednesday
3) Wednesday

4) Venesday
Correct Answer: Wednesday
Candidate Answer: Wednesday

QID : 169 - Rearrange the parts of the sentence in correct order.

Rainwater harvesting is the most

P: available in the areas lacking water
Q: many years to make water

R: suitable and effective way for




Options:
1) QRP

2) PQR
3) RQP

4) PRQ
Correct Answer: RQP
Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.
Awareness about the importance
P: relief from the female feticide

Q: is major weapon to get
R: of girl child in the society

Options:
1) RQP

2) PQR
3) QRP

4) PRQ
Correct Answer: RQP
Candidate Answer: RQP

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Earth is the only planet in this universe where life is possible as it has basic necessities of life. We need to
order to continue the healthy life here. Save earth save environment and save earth save life are the most slogans to awareness about save earth among
people. There are various means by which the condition of our earth is getting day by day due to the pollution, greenhouse gases, etc. It is generating the
harmful impact on environment and thus health of people. It is the responsibility of human beings to keep earth safe, clean and natural.

the natural quality of our mother earth in

only
Options:
1) known

planet in this universe

2) left
3) discovered

4) named
Correct Answer: known
Candidate Answer: known

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Earth is the only planet in this universe where life is possible as it has basic necessities of life. We need to the natural quality of our mother earth in
order to continue the healthy life here. Save earth save environment and save earth save life are the most slogans to awareness about save earth among
people. There are various means by which the condition of our earth is getting day by day due to the pollution, greenhouse gases, etc. It is generating the
harmful impact on environment and thus health of people. It is the responsibility of human beings to keep earth safe, clean and natural.

need to
Options:
1) destroy

the natural quality

2) maintain
3) create

4) abort
Correct Answer: maintain
Candidate Answer: maintain

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Earth is the only planet in this universe where life is possible as it has basic necessities of life. We need to
order to continue the healthy life here. Save earth save environment and save earth save life are the most slogans to awareness about save earth among
people. There are various means by which the condition of our earth is getting day by day due to the pollution, greenhouse gases, etc. It is generating the
harmful impact on environment and thus health of people. It is the responsibility of human beings to keep earth safe, clean and natural.

the natural quality of our mother earth in

life are the most slogans




Options:
1) useless

2) irritating
3) famous

4) discarded
Correct Answer: famous
Candidate Answer: famous

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Earth is the only planet in this universe where life is possible as it has basic necessities of life. We need to the natural quality of our mother earth in
order to continue the healthy life here. Save earth save environment and save earth save life are the most slogans to awareness about save earth among
people. There are various means by which the condition of our earth is getting day by day due to the pollution, greenhouse gases, etc. It is generating the
harmful impact on environment and thus health of people. It is the responsibility of human beings to keep earth safe, clean and natural.

to awareness

Options:
1) decrease

2) neutralize
3) abates

4) increase
Correct Answer: increase
Candidate Answer: increase

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Earth is the only planet in this universe where life is possible as it has basic necessities of life. We need to the natural quality of our mother earth in
order to continue the healthy life here. Save earth save environment and save earth save life are the most slogans to awareness about save earth among
people. There are various means by which the condition of our earth is getting day by day due to the pollution, greenhouse gases, etc. It is generating the
harmful impact on environment and thus health of people. It is the responsibility of human beings to keep earth safe, clean and natural.

getting
Options:
1) inclined

day by day

2) signed
3) climbed

4) declined
Correct Answer: declined
Candidate Answer: declined

QID : 176 - Which one of the following features is NOT correct about Mid-day Meal Scheme?

o3 Mo = S IR § 79 3 @ iv 0 & ara adr g 32

Options:

1) Encourage children's attendance in schools
it & et @ SurRRIR B HieaTTa B 3 T
2) Retention of numbers of children
ol et iTeReT W B TEe F fog

3) Improve nutritional status

oo Haef Rerfer d§ gurm

4) To increase cleanliness in schools

el H W dl 98 & fo1g

Correct Answer: To increase cleanliness in schools
el § weedr 9e™ % forg

Candidate Answer: To increase cleanliness in schools

el # woedT 9gM & forg
QID : 177 - Which of the following sector contributes the lowest to the India's national income?

YR B T 3T & o FH ARTe Freafeied 3 3 feg e w12




Options:
1) Primary Sector

TTerRYes &=

2) Secondary Sector

e &

3) Tertiary sector

T &

4) Secondary and Tertiary sector both
faciae aiR gt g Gt

Correct Answer: Primary Sector
Wi &1t

Candidate Answer: Primary Sector

wreifres &=

QID : 178 - Who was the temporary president of the Constituent Assembly?

TRIETT T & SR 3reTet HI A?
Options:
1) Dr. B.R. Ambedkar

3T R . IEATHY
2) Dr. Rajendra Prasad

. WMo TS

3) Dr. Sachchidananda Sinha

1. aftaee Rimgr

4) K.M. Munshi

ERLE: )

Correct Answer: Dr. Sachchidananda Sinha
. gfeaegHs fawer

Candidate Answer: Dr. Sachchidananda Sinha

1. wieaeHs Rimgr
QID : 179 - Who determines the central-state financial relations from the following?

ey ferira el o Freivor frrafelaa & S el ear 22
Options:

1) Ministry of Finance

ESEFICD)

2) National Development Council

I ferepre ufitwe

3) Planning Commission

GISTT STIRT

4) Finance Commission

forr 3T

Correct Answer: Finance Commission
o s

Candidate Answer: Finance Commission

o T

QID : 180 - During the reign of which of the following rulers the famous Chinese traveller Hiuen Tsang came to India?

TRTe D Il == frretalRed § & frads smavere § wiRe smar ar?
Options:

1) Krishnadeva Raya

PRI T

2) Chandragupta |

TS T
3) Harshvardhana

e

4) Ballal Sen
ToolTel O
Correct Answer: Harshvardhana

g

Candidate Answer: Chandragupta |

T3 [Wd UaH
QID : 181 - What was Komagata Maru?

HTHFTTST IR T AT?




Options:

1) A military troop of china

I T Teh Wb ghST

2) A cultural party of Taiwan

TSET &1 U AP ied gl

3) A ship on to Canada trip
HATST 1 ATAAT R o rehell e wigrst

4) A guerrilla troop of Indians in Burma
uf § YRR ) T BTUHR gHST
Correct Answer: A ship on to Canada trip
HATST D1 ATHAT R fHehel T gt
Candidate Answer: [ NOT ANSWERED ]

QID : 182 - Which one of the following is NOT an example of Block Mountain?

FreferRaa & & i AT T selich ATSS BT Teh SaTg0T el &7
Options:

1) Vosges

EIRE)

2) Satpura

Haygsr

3) Black Forest
h BRI

4) Fujiyama
pierar

Correct Answer: Fujiyama

LA RIE

Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Which of the following rivers is known as "Qil River"?

FreferRaa & & frg T &Y "aet T F T D STar ST 82
Options:

1) Nile River

et =t

2) Zambezi River

SRS} =Ty

3) Brahmputra River

ERRERE

4) Niger River

BLEEASE

Correct Answer: Niger River
BIECEEE

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - Who among the following is considered as the father of heredity?

ST T ST 574 o fohd 71T <Trer 82
Options:

1) H.G. Khorana

TS,

2) Charles Darwin

e BT

3) Lamarck

ceic

4) Gregor Mendel

IR A

Correct Answer: Gregor Mendel

IR A

Candidate Answer: [ NOT ANSWERED ]

QID : 185 - Pneumatic bones is an important characteristic of which of the vertebrate animal?

FeoH sigall # A Fewat ta gyt Rretvar s gfsai 22




Options:

1) Reptiles
w_{gT

2) Amphibians
SHIR

3) Aves

afert

4) Mammals

ESRLCIR

Correct Answer: Aves

uferst

Candidate Answer: [ NOT ANSWERED ]

QID : 186 - Which one of the following is the causative organisms for malaria disease?

FraferRaa & & 7R I €9 & fore R gasha wiv a1 82
Options:

1) Protozoa

s

2) Virus

CICES |

3) Bacteria

4) Fungi

Hdd

Correct Answer: Protozoa
B

Candidate Answer: Protozoa

EICAGIE)

QID : 187 - Which of the following waves do not require any kind of medium to propagate?

ferfafaa & @ i & a3 & forg fondt oY aremy <Y smaeader T8 &2
Options:

1) Sound

eafer

2) Earthquake waves
YT Y

3) Light waves

TRl a4t

4) Water surface waves

U &Y g @Y T

Correct Answer: Light waves
TR a4t

Candidate Answer: Light waves

TehTIT a4l

QID : 188 - Which one of the following is Sl Unit of Power?

ForforRaa i & 319 a1 T 91iRh a1 gHens (SI) sHS 7

Options:
1) Joule

Siet

2) Watt

e

3) Newton Metre
e WX

4) Kilo watt hour
fpeitare ger

Correct Answer: Watt
e

Candidate Answer: Watt
ae

QID : 189 - Which one of the following is Not an example of hardware device?

T O BN 1 U TSN Fearsd T SegRu adi 2




Options:

1) Monitor

Hiferex

2) MS Office

wHEE At

3) Keyboard

FErS

4) Mouse

3

Correct Answer: MS Office
e Hith

Candidate Answer: MS Office
e At

QID : 190 - Which one of the following is the chemical formula of Green Vitriol?

FrforRas & #1971 e g 2fvem ar g e (3 fafrsiien) @ et g 82
Options:

1) FeSO

2) Fe,SO

3) CuS0,

4) FeSO4

Correct Answer: FeSOy4

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - Which one of the following fibres is used to make parachutes?

Frfoaa & 8 frg 9T (FreeR) o1 sxwTer INefe o= | e srar 21
Options:

1) Plastic

TReH

2) Rayon

=

3) Nylon

I

4) Terylene

R

Correct Answer: Nylon

AT
Candidate Answer: Terylene

Rl

QID : 192 - Which of the following series is true about energy flow in an ecosystem?

iRReufre = & St parg & TR # FfaReaa 3 9 i d sjeer ad §?
Options:

1) Producers => Consumers => Decomposers

IUTEH => SYUIHT => TUSH

2) Consumers => Producers => Decomposers

SYHIRAT => ITEH => ATETH

3) Producers => Decomposers => Consumers

JTEH => ATYSH => ITHRAT

4) Decomposers => Consumers => Producers

JEEH => SYHRAT => IUTEH

Correct Answer: Producers => Consumers => Decomposers
IUTEH => SUHITHT => TUTH

Candidate Answer: Producers => Consumers => Decomposers
JATEH => SUHIAT => JTIEH

QID : 193 - Development of 'Industry and Minerals' was on top priority in which of the following Five Year Plan?

e 3R @freil o1 fere fr=fafea O 3 e dadTar Dot ) watee areifirear o2




Options:

1) First Five Year Plan

Ugell Teray ST

2) Second Five Year Plan
EGAECERRIEE

3) Third Five Year Plan

T vt FretT

4) Fourth Five Year Plan

<ty drergiar gverar

Correct Answer: Second Five Year Plan
EGACEELIREIEEY

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - Who among the following scientists invented the Barometer?

Irfiex 31 snfrepR F=faRaa denfeet 3 3 fras fear?
Options:

1) Humphrey Davy

TR ST

2) Thomas Edison

AT T

3) E. Torricelli

5. IR

4) Pascal

Ui&hel

Correct Answer: E. Torricelli

ERC R

Candidate Answer: E. Torricelli

. SRR

QID : 195 - Which tennis tournament is often referred to as 'Roland Garros'?

Options:

1) Australian Open
sireferas sius

2) Wimbledon

IEECER

3) US Open

¥ A

4) French Open

% 3fus

Correct Answer: French Open
W =

Candidate Answer: [ NOT ANSWERED ]

QID : 196 - Which city of Uttar Pradesh is associated with Kumbh Mela?

TN T BT B AT IER HY Al A FST g §?
Options:

1) Kanpur

PITIR

2) Lucknow

GREEE

3) Prayag

TRT

4) Varanasi

IRIOH

Correct Answer: Prayag
TRT

Candidate Answer: Varanasi

TRV

QID : 197 - On whose name is the highest award for services to the development of cinema given?

fopes A R R & R SiR Sarsil & forg watea R o s 32




Options:

1) Amitabh Bachchan

Ty T

2) Dilip Kumar

el paR

3) Dada Saheb Falke

eT 918 d hieth

4) Raj Kapoor

S BYY

Correct Answer: Dada Saheb Falke
eT 918 d hleth

Candidate Answer: Dada Saheb Falke
el 918 d Bleh

QID : 198 - Which of the following books had Chand Bardai written?

<Igarers 7 Frafaie g § 3 o O e ol 32
Options:

1) Prithviraj Raso

YRARTST AT

2) Bahubali Raso

EIFCEIRI

3) Prem Raso

EREIE]

4) Ras Raso

T T

Correct Answer: Prithviraj Raso
gfIRTeT Y

Candidate Answer: Prithviraj Raso

YRAIRTST TRAT

QID : 199 - With which of the following countries India has Kalapani and Susta territorial dispute?

FHredT AR g1 & fare frafaiea § vRa ol dor 4 forass wrer g?
Options:

1) Pakistan

ifepT

2) Sri Lanka

sfreter

3) Nepal

4) Bangladesh
TireTer

Correct Answer: Nepal
Aurer

Candidate Answer: Nepal

YT

QID : 200 - In which of the following countries Mount Pedro is located?

Tde Uy frrafeRad # 9 fra Sor A srafRera 82
Options:

1) Myanmar

R

2) Bhutan

3) Sri Lanka

sfieteT

4) Nepal

AqTA

Correct Answer: Sri Lanka

sfietepT

Candidate Answer: [ NOT ANSWERED ]




